Date	Project	Task	Notes	Hours	Rate	Α	mount
1/3/2014	Residential Rate Design	Phase 2	Email exchange w/ E. Gallardo re: motion for evidentiary hearing	0.1	\$450	\$	45.00
1/3/2014	Residential Rate Design	Phase 2	Review responses to protests	0.4	\$450	\$	180.00
1/6/2014	Residential Rate Design	Phase 2	Email exchange w/ E. Gallardo re: motion for evidentiary hearings	0.1	\$450	\$	45.00
1/7/2014	Residential Rate Design	Phase 2	Review party motions for ev hearings (ORA, SDCAN, TURN)	0.3	\$450	\$	135.00
1/7/2014	Residential Rate Design	Phase 2	Final review & cite check re: motion for ev hearings; email exchange w/ E. Gallardo re: same	0.7	\$450	\$	315.00
1/7/2014	Residential Rate Design	Phase 2	Review & edit motion for evidentiary hearings; follow-up conversation re: same w/ E. Gallardo	1.3	\$450	\$	585.00
1/8/2014	Residential Rate Design	Phase 2	Call w/ E. Gallardo re:issues & strategy to address at PHC	0.4	\$450	\$	180.00
1/8/2014	Residential Rate Design	Phase 2	Review proposed Phase 2 filings & schedule; prep for PHC	0.6	\$450	\$	270.00
1/9/2014	Residential Rate Design	Phase 2	Review transcript of PHC; review notes re: change in scope of Phase 2 and upcoming activity	0.7	\$450	\$	315.00
1/14/2014	Residential Rate Design	Phase 2	Review research re: low-budget impacts on health	0.1	\$450	\$	45.00
1/15/2014	Residential Rate Design	Phase 2	Review SCE data request on definition of affordability; email exchange w/ E. Gallardo (GL) re: same	0.2	\$450	\$	90.00
1/15/2014	Residential Rate Design	Phase 2	Review SCE request to delay GRC Phase 2 filing	0.1	\$450	\$	45.00
1/16/2014	Residential Rate Design	Phase 2	Review UCAN Motion re: late-filed protest & email ruling granting same	0.1	\$450	\$	45.00
1/21/2014	Residential Rate Design	Phase 2	Review email from ALJ re: revised schedule & procedural issues; email to E. Gallardo re: same	0.2	\$450	\$	90.00
1/21/2014	Residential Rate Design	Phase 2	Review SDG&E ex parte notice	0.1	\$450	\$	45.00

1/21/2014	Residential Rate Design	Phase 2	Email to E. Gallardo re: IOU argument in other context supporting exclusion of GHG dividend from rates	0.2	\$450	\$ 90.00
1/21/2014	Residential Rate Design	Phase 2	Call w/ E. Gallardo re: schedule & anticipated simplified rate proposals; call & email to G. Petlin (ED) re: requests for rate comparisons	0.3	\$450	\$ 135.00
1/24/2014	Residential Rate Design	Phase 2	Review Scoping Memo for Phase 2	0.2	\$450	\$ 90.00
1/28/2014	Residential Rate Design	Phase 2	Brief review of SCE simplified proposal	0.2	\$450	\$ 90.00
1/28/2014	Residential Rate Design	Phase 2	Brief review of PG&E simplified proposal	0.2	\$450	\$ 90.00
1/28/2014	Residential Rate Design	Phase 2	Brief review of SDG&E simplified proposal	0.2	\$450	\$ 90.00
1/29/2014	Residential Rate Design	Phase 2	Conference w/ T. Favuzzi (potential expert from CFILC) re: Phase 2 issues and anticipated testimony	8.0	\$450	\$ 360.00
2/3/2014	Residential Rate Design	Phase 2	Draft response to SDG&E Data Request re: definition of affordability; research re: articles, studies, and prior Commission activity re: same; email exchange w/ E. Gallardo re: same	4.0	\$450	\$ 1,800.00
2/4/2014	Residential Rate Design	Phase 2	Email exchange w/ E. Gallardo re: witnesses & testiomony	0.2	\$450	\$ 90.00
2/4/2014	Residential Rate Design	Phase 2	Email to consumers re: status of settlement discussions (if any)	0.1	\$450	\$ 45.00
2/6/2014	Residential Rate Design	Phase 2	Prepare draft scope of work for expert T. Favuzzi (CFILC); email exchange re: same	0.3	\$450	\$ 135.00
2/10/2014	Residential Rate Design	Phase 2	Call & email w/ M. Hawiger (TURN) re: coordination and status of any settlemnt talks	0.3	\$450	\$ 135.00
2/11/2014	Residential Rate Design	Phase 2	Conf w/ E. Gallardo re: preparation of testimony for short-term issues & schedule for long-term issues	0.2	\$450	\$ 90.00
2/12/2014	Residential Rate Design	Phase 2	Call w/ GL & PG&E re: explanation of bill impact tables	0.7	\$450	\$ 315.00
2/12/2014	Residential Rate Design	Phase 2	Brief review of updated bill impact data from PG&E	0.3	\$450	\$ 135.00

2/12/2014	Residential Rate Design	Phase 2	Email exchange w/ PG&E setting call re: short-term proposal	0.1	\$450	\$ 45.00
2/14/2014	Residential Rate Design	Phase 2	Email exchange w/ TURN & SCE re: potential settlement, review notice of settlement conference	0.2	\$450	\$ 90.00
2/18/2014	Residential Rate Design	Phase 2	Call w/ PG&E & GL re: short-term rate proposal; follow-up call w/ GL re: potential settlement talks	0.3	\$450	\$ 135.00
2/18/2014	Residential Rate Design	Phase 2	Review draft term sheet re: tentative SCE/TURN/ORA settlement; prep for call re: same	0.3	\$450	\$ 135.00
2/18/2014	Residential Rate Design	Phase 2	Settlement call w/ SCE re: draft agreement w/ TURN/ORA; follow up call w/ GL re: response to proposed settlement	8.0	\$450	\$ 360.00
2/18/2014	Residential Rate Design	Phase 2	Email exchange w/ PG&E & GL re: bill impacts for short-term proposal	0.2	\$450	\$ 90.00
2/20/2014	Residential Rate Design	Phase 2	Email exchange w/ T. Favuzzi (CFILC witness) re: preparation of testimony, past examples of testimony, scope of work, key issues	0.5	\$450	\$ 225.00
2/20/2014	Residential Rate Design	Phase 2	Email exchange re: participation in PG&E settlement call	0.1	\$450	\$ 45.00
2/21/2014	Residential Rate Design	Phase 2	Attend settlement call w/ PGE, TURN, ORA	0.7	\$450	\$ 315.00
2/21/2014	Residential Rate Design	Phase 2	Review PGE & ORA proposals re: potential settlement rates; call w/ E. Gallardo (GL) re: same	0.5	\$450	\$ 225.00
2/21/2014	Residential Rate Design	Phase 2	Review settlement materials in advance of SCE call	0.3	\$450	\$ 135.00
2/21/2014	Residential Rate Design	Phase 2	Attend SCE settlement conference by phone	0.5	\$450	\$ 225.00
2/21/2014	Residential Rate Design	Phase 2	Call w/ E. Gallardo (GL) re: SCE & PG&E settlement discussions, preparation of testimony & strategy for moving forward.	0.4	\$450	\$ 180.00
2/21/2014	Residential Rate Design	Phase 2	Review additional scenarios & proposals from PG&E following settlement call	0.1	\$450	\$ 45.00
2/21/2014	Residential Rate Design	Phase 2	Email exchange w/ consumers re: status of settlement discussions with SDG&E	0.2	\$450	\$ 90.00

2/24/2014	Residential Rate Design	Phase 2	Call w/ consumers & PG&E re: summer 2014 settlement proposal	0.9	\$450	\$	405.00
2/24/2014	Residential Rate Design	Phase 2	Draft outline of Favuzzi Testimony	1.0	\$450	\$	450.00
2/24/2014	Residential Rate Design	Phase 2	Call w/ GL re: testimony & procedural steps in light of likely PG&E & Edison settlements	0.2	\$450	\$	90.00
2/24/2014	Residential Rate Design	Phase 2	Review proposed revised schedule from TURN/ORA/PGE/SCE; review ALJ & party responses re: same	0.2	\$450	\$	90.00
2/25/2014	Residential Rate Design	Phase 2	Review party emails re: proposed change in schedule	0.1	\$450	\$	45.00
2/25/2014	Residential Rate Design	Phase 2	Email exchange w/ T. Favuzzi rescheduling call	0.1	\$450	\$	45.00
2/26/2014	Residential Rate Design	Phase 2	Review PG&E notice of settlement conference & RSVP for same	0.2	\$450	\$	90.00
2/26/2014	Residential Rate Design	Phase 2	Call w/ H. Contreras & T. Favuzzi re: preparation of CFILC Testimony	0.8	\$450	\$	360.00
2/27/2014	Residential Rate Design	Phase 2	Draft Contreras Testimony	2.5	\$450	\$	1,125.00
2/27/2014	Residential Rate Design	Phase 2	Brief review of SDCAN testimony re: SDGE rate proposal	0.3	\$450	\$	135.00
2/27/2014	Residential Rate Design	Phase 2	Review PG&E responses to CforAT & GL data requests	0.3	\$450	\$	135.00
2/28/2014	Residential Rate Design	Phase 2	Draft Contreras testimony	2	\$450	\$	900.00
3/3/2014	Residential Rate Design	Phase 2	Draft Contreras testimony; email exchange w/ H. Contreras re: same & scheduling call	1.7	\$450	\$	765.00
3/3/2014	Residential Rate Design	Phase 2	Review revisions to testimony from H. Contreras; call w/ H. Contreras re: additional material to incorporate into testimony	0.6	\$450	\$	270.00
3/4/2014	Residential Rate Design	Phase 2	Draft Contreras testimony; cite check same; calls & emails w/ H. Contreras re: same & w/ E. Gallardo re: same	6.0	\$450	\$ :	2,700.00
3/5/2014	Residential Rate Design	Phase 2	Prepare final revisions to Contreras testimony & exhibits	4.5	\$450	\$ :	2,025.00

3/5/2014	Residential Rate Design	Phase 2	Attend PG&E settlement conference (by phone)	0.3	\$450	\$ 135.00
3/5/2014	Residential Rate Design	Phase 2	Review & edit Gallardo testimony (SCE & SDG&E)	0.7	\$450	\$ 315.00
3/5/2014	Residential Rate Design	Phase 2	Review PG&E settlement & joint motion in support of same	0.3	\$450	\$ 135.00
3/5/2014	Residential Rate Design	Phase 2	Review proposed SCE settlement and joint motion in support of same	0.5	\$450	\$ 225.00
3/5/2014	Residential Rate Design	Phase 2	Brief review of party testimony	1.0	\$450	\$ 450.00
3/6/2014	Residential Rate Design	Phase 2	Review PG&E settlement & motion to support same	0.3	\$450	\$ 135.00
3/7/2014	Residential Rate Design	Phase 2	Notes re: preparation of response to PG&E data requests	0.6	\$450	\$ 270.00
3/7/2014	Residential Rate Design	Phase 2	Brief review of PG&E data request re: Contreras testimony	0.2	\$450	\$ 90.00
3/10/2014	Residential Rate Design	Phase 2	Email exchange w/ H. Contreras re: PG&E discovery & responses	0.2	\$450	\$ 90.00
3/11/2014	Residential Rate Design	Phase 2	Call w/ H. Contreras re: responses to PG&E data requests	0.2	\$450	\$ 90.00
3/12/2014	Residential Rate Design	Phase 2	Brief review of Quadrini rebuttal to Contreras testimony; email to H. Contreras re: same	0.3	\$450	\$ 135.00
3/12/2014	Residential Rate Design	Phase 2	Draft responses to PG&E data requests; email to H. Contreras re: same	1.4	\$450	\$ 630.00
3/12/2014	Residential Rate Design	Phase 2	Call w/ C. Warner (PG&E) re: responses to data requests & procedural issues likely to develop at hearing	0.3	\$450	\$ 135.00
3/12/2014	Residential Rate Design	Phase 2	Call w/ E. Gallardo re: responses to PG&E & SCE settlement, responses to PG&E discovery & expectations for hearing	0.2	\$450	\$ 90.00
3/12/2014	Residential Rate Design	Phase 2	Brief review of SDG&E rebuttal testimony (Fang)	0.2	\$450	\$ 90.00

Residential Rate Design	Phase 2	Message to C. Warner (PG&E) re: responses to data requests	0.1	\$450	\$	45.00
Residential Rate Design	Phase 2	Call w/ E. Gallardo re: hearing, settlements, and next steps	0.4	\$450	\$	180.00
Residential Rate Design	Phase 2	Email exchange w/ TURN re: potential settlement w/ SDG&E on short-term rates; separate email exchange w/ Greenlining re: same	0.5	\$450	\$	225.00
Residential Rate Design	Phase 2	Multiple calls & emails w/ IOUs & Greenlining re: plans for cross-	1.0	\$450	\$	450.00
Residential Rate	Phase 2	Mutliple calls & emails w/ H. Contreras re: responses to data	0.7	\$450	\$	315.00
Residential Rate	Phase 2	Email exchange w/ PG&E re: delay in deadline for responses to	0.1	\$450	\$	45.00
Residential Rate	Phase 2	Draft responses to PG&E DRs re: Contreras Testimony; call w/ H.	2.5	\$450	\$	1,125.00
Residential Rate	Phase 2	Review email exchange re: hearings, schedule, settlement panels	0.5	\$450	\$	225.00
Residential Rate	Phase 2		0.1	\$450	\$	45.00
Residential Rate	Phase 2	Review settlement documents for SDG&E	0.2	\$450	\$	90.00
Residential Rate	Phase 2	Attend hearings on settlement proposals	4.5	\$450	\$	2,025.00
Residential Rate	Phase 2	Revise Contreras Testimony per instructions at hearing & prepare for submission into record	1.0	\$450	\$	450.00
Residential Rate	Phase 2		2.3	\$450	\$	1,035.00
Residential Rate	Phase 2	Review terms of SDG&E settlement re: baseline proposal; email	0.2	\$450	\$	90.00
Residential Rate	Phase 2	·	0.7	\$450	\$	315.00
Residential Rate Design	Phase 2	Email exchange w/ E. Gallardon re: baseline issue in SDG&E settlement	0.1	\$450	\$	45.00
	Design Residential Rate	Residential Rate Design	Phase 2 Message to C. Warner (PG&E) re: responses to data requests  Phase 2 Call w/ E. Gallardo re: hearing, settlements, and next steps  Phase 2 Semail exchange w/ TURN re: potential settlement w/ SDG&E on short-term rates; separate email exchange w/ Greenlining re: same  Residential Rate Design  Residential Rate Desig	Design Residential Rate Design	Residential Rate Design Reside	Residential Rate Design Reside

4/1/2014	Residential Rate Design	Phase 2	Call w/ E. Gallardo (GL) re: response to SDG&E settlement & strategy for brief	0.2	\$450	\$ 90.00
4/4/2014	Residential Rate Design	Phase 2	Draft brief (affordability section)	4.5	\$450	\$ 2,025.00
4/6/2014	Residential Rate Design	Phase 2	Review & edit Climate Dividend section of brief from E. Gallardo; email re: same	1.2	\$450	\$ 540.00
4/7/2014	Residential Rate Design	Phase 2	Brief review of party briefs	0.5	\$450	\$ 225.00
4/7/2014	Residential Rate Design	Phase 2	Revise affordability section of brief; email exchange w/ E. Gallardo re: same	4.5	\$450	\$ 2,025.00
4/8/2014	Residential Rate Design	Phase 2	Review SCE Advice Letter requesting tariff modification to issue California Climate Credit; email to E. Gallardo re: potential impact	0.2	\$450	\$ 90.00
4/10/2014	Residential Rate Design	Phase 2	Review party briefs; notes re: same for reply; call w/ E. Gallardo re: same	1.0	\$450	\$ 450.00
4/10/2014	Residential Rate Design	Phase 2	Review & edit TOA & summary for opening brief; email exchange w/ E. Gallardo re: same	0.2	\$450	\$ 90.00
4/14/2014	Residential Rate Design	Phase 2	Review & edit draft reply brief; email exchange w/ E. Gallardo re: same	1.0	\$450	\$ 450.00
4/15/2014	Residential Rate Design	Phase 2	Review revised reply brief adding argument re: equal cents per kWh	0.2	\$450	\$ 90.00
4/17/2014	Residential Rate Design	Phase 2	Brief review of party reply briefs	0.5	\$450	\$ 225.00
4/25/2014	Residential Rate Design	Phase 2	Review SCE ex parte notice re: Phase 2 issues	0.1	\$450	\$ 45.00
5/9/2014	Residential Rate Design	Phase 2	Review PD; notes re: same	1.2	\$450	\$ 540.00
5/13/2014	Residential Rate Design	Phase 2	Conf w/ E. Gallardo (GL) & M. Hawiger (TURN) re: comments on Phase 2 PD	0.2	\$450	\$ 90.00
5/14/2014	Residential Rate Design	Phase 2	Complete close review of PD; notes re: same for comments	0.5	\$450	\$ 225.00

·			Totals:	83.2		\$3	7,440.00
6/23/2014	Residential Rate Design	Phase 2	Review Phase 2 Final Decision	0.5	\$450	\$	225.00
6/4/2014	Residential Rate Design	Phase 2	Review ORA ex parte notices & attachments on Phase 2 PD	0.2	\$450	\$	90.00
5/30/2014	Residential Rate Design	Phase 2	Review ORA ex parte notice & attachments re: Phase 2 PD	0.2	\$450	\$	90.00
5/30/2014	Residential Rate Design	Phase 2	Review party comments on Phase 2 PD	0.3	\$450	\$	135.00
5/29/2014	Residential Rate Design	Phase 2	Review & edit revised draft Phase 2 Comments on PD	0.7	\$450	\$	315.00
5/28/2014	Residential Rate Design	Phase 2	Draft comments on Phase 2 PD	2.5	\$450	\$	1,125.00
5/28/2014	Residential Rate Design	Phase 2	Email exchange w/ E. Gallardo re: comments on Phase 2 Decision; review GL draft comments re: CA Climate Credit	0.3	\$450	\$	135.00
5/15/2014	Residential Rate Design	Phase 2	Review notes on Phase 2 PD; develop strategy re: opening comments; email to E. Gallardo (GL) re: same	0.5	\$450	\$	225.00
5/14/2014	Residential Rate Design	Phase 2	Update to CFILC re: status of Phase 2 issues	0.2	\$450	\$	90.00